Mindeture IE: Homogeneous equation complex roots Recall y= e<sup>m×</sup> is a solution of a dy/2+ b dy/2+ cy=0 计  $am^2 + bm + c = 0$ Three coost: eal distinct roots done complex roots now
 repeated roots rest time Complex rooto  $m = -b \pm \sqrt{b^2 - 4ac}$ 6-40C <0 Gall them m = atip m = a-ip Solution  $\gamma(x) = e^{m_1 x} = e^{(m_1 x)} x$  $\gamma_2(x) = e^{m_2 x} = e^{(m_1 x)} x$ and general solution: y(x) = A (artip)x + Be(ar-ip)x

Euler's formula e<sup>ipx</sup> = ospx+isinpx Then general solution is  $\gamma(x) = A e^{\alpha x} e^{i\beta x} + B e^{\alpha x} e^{-i\beta x}$ =  $e^{\alpha x} (A e^{i\beta x} + B e^{-i\beta x})$ =  $e^{\alpha x} (A (\alpha \beta x + i \sin \beta x))$ +  $B(\alpha \beta x - i \sin \beta x)$ =  $e^{\alpha x} (A + B) \alpha \beta x + i (A - B) \sin \beta x$ ver aptarte D = i(A - B)C = A + BThen ) = e<sup>oox</sup> (Cospx+ Dsinpx C,D can be real by dotting A,B printing. **INSPIRATION HUT - 1.0CM RULED** 

Example Sche  $\frac{dy}{dx^2} + 2 \frac{dy}{dx} + 2y = 0.$ Auxiliary equation:  $m^2 + 2m + 2 = 0$ =  $(m + 1)^2 + 1$ ⇒ m+1=±i ⇒ m=-1±i General solution  $y(x) = A e^{(-ii)x} + B e^{(-i)x}$  $= e^{-x} (A e^{ix} + B e^{-ix})$  $= e^{-x} (A (abx+isonx) + \cdots$  $= e^{-x} (C \alpha b x + D sin x)$ Example Solve ax + ax + 1 × = 0 (x=ent) Anxiliary equation  $0 = m^2 + m + \frac{1}{2} = (m + \frac{1}{2})^2 + \frac{1}{4}$ う N+2=
1
2
N=2
2
2 General solution: INSPIRATION HUT - 1.0CM RULED

$x(t) = A e^{(\frac{1}{2} + \frac{i}{2})t} + Be^{(\frac{1}{2} - \frac{i}{2})t}$ = $e^{\frac{1}{2}t} (Cos \frac{1}{2}t + Osin \frac{1}{2}t)$
INSPIRATION HUT - 1.0CM RULED

INSPIRATION HUT - 1.0CM RULED

INSPIRATION HUT - 1.0CM RULED